onod 7"7'oIN R,y p"2.7"02

He did not say, like an unattributed individual - =728 X% 7877 2N0D

Overview

The py1g were %%nn the *¥27 075 after it was picked by strangers. This contradicts
the view of 11 "1 that one cannot be w>7pn (or 9711) something which is not in his
possession. ¥1°27 said if 1371 "7 would not have said that 7R 927 178 X017 " PYIK,
we could have assumed that the Xin of the mi1wn ono regarding the 7°¥11% is 7" and
therefore even though "1 says mwn ono3 12971, nevertheless there is no contradiction
from the mawn ano of PyX to the ruling of *", since *"'1 never meant that the 71597 is
like a miwn ano which follows the view of a 7r (like this mawn of Pyux, which
follows the view of one Xin, namely 7"7). Our N1BOIN reconciles our X3 with
seemingly contradictory mana.

mooin asks:
= RTINS DNV IVIAN INT YHYN MNIPN NPT NN

It is astounding! for in many places it seems that 1111 ' said that the 71557 is like

a 71wn an® even if the XN is a 797 NYT; nHOIN cites two sources -
= MVYN ONYI NaYN 19097 2249 99NN 17999 (3,50 91 naw) NN 91027

For in the end of X357 P9, the X3 asks, ‘but 2''1 stated ;73w anos 72957 -
= 3P0 XY DAN 2090913 49IN 9913 )M

And we learnt in a 71wn ono that a 9% is permitted to rub his hair and separate

his hairs, but he may not comb his hair’. This concludes the s'83 question -
= PYNY 3390 157 19907 (0w x,an 97 1) D39 /) PI927 2) JY 4N

And even though in 2°°% '3 P95, we establish that 71wn ano, according to @',
who is a 7871 and here we said MR R 7X87°7° oNO3?

Another source:
= 55133 19994 MINA HNN 923 (3,3n 97 mnad) \DIND PH93)Y

And in Y9177 P95 regarding, the mawn of ‘whether they are n¥»n2’, where the X

! The Xn3 there inferred from a ruling of 131> ' that a 11302 WRW 127 is forbidden to do on naw.
2 The 71 is allowed to be 0o0aM 7911 even though it is possible that he will tear his hair (which is forbidden to a 7°13),
nevertheless since he is not 1”197 to tear his hair, it is permitted. This 73w» ano contradicts the ruling of *".
3 When combing the hair, it is unavoidable to tear out some hair, therefore it is a @ 2°05 which is MoX according to
everyone.
4 x,8n. The mwn there is discussing the rule of 727 that a woman must wait three months after a marriage was
terminated in order to remarry (in order to ascertain who is the father of the child).
3" there rules that the 71997 is like °01° ' who maintains that (even though they are not permitted to marry [PR1]
but) they can be betrothed (7017°R).
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there also asks -
= HMIPN 1931 121 9NN 2293 YHNT 2) by N 6m3UN ONYS NaYN 1309 229 9INRM

‘But >'' said mwn» anes 759:7°, even though that the 71wn of M?IN2 NN is according

to %' (only), who is a X7 ; and similarly in many places this question of >"3 928
mIwn andd 1397 is asked, even though the authors of these nvawn are individuals?!

nBoIN answers:
= NDYT 229 D18 NI NI NIPNIN M 1WITD 29107 919 U

And one can say that this is the explanation of what X1°27 stated that (if *""2 would
not have said 71X 727 171KR 7" 2°¥1X) we would have assumed that the Xin of the

71wn of @%wx is 7''9°; we would have assumed that -
- 13199 5395 NIV BN NYPN N7 3957 35

In order that you should not contradict ''% from a 5732 2nv; this is what X121 stated -
— NN INNN NNND NN NINIDIN INND NVWPHN NIT 799995

Meaning to say, that you should not ask why is this X2no stronger than this X2no;

the answer to that will be -
= 8095395 YNINT NIYN OND NN 25 NIYWN KD NN ANTINT 9199129 NIINT 11999

That since we can say that the ano of P¥¥ is a AIRT it is not as significant as
the other mwm» ano (of 21137 1X) which is a majority opinion.

mooin asks:
= NN ARTN? 2300 NN 2NN PRT 22) NIND NN N 99NN ON)

And if you will say; but also this X%»no of '2137 91K 21347 PR’ is also a IRTIM -
= HOPLHY NN Y NI RPITIVPHIY DD 9IRT NDIT 2297 HYNNDD 92 NN %29 139NY

For that m1wn is according to "9 the disputant of 7''9, namely "9 who (°")
maintains that the 7°y11x said specifically, ‘whatever they will gather’ is redeemed,
but they did not say, ‘whatever was gathered’ -

Mo0IN answers:

¢ The mwn ono there rules that both PXW»1 and PoIPX are forbidden. That is the s'X 23 question there.
7 The question X1°27 is trying to answer is not merely that the mawn of 1¥1% contradicts 13 ', for we have another
mawn ono which supports *" (the 7wn of 21 21137 X mentioned on 2,u0); rather the question can be why did *"
chooses one and over another ano
8 The answer of M201n is that generally > maintains 73w» and3 73771 even if it is a AR (which explains the X3 in
X*¥ M7 and Y9217 mentioned above), however in a case where we have two contradictory n1vawn ano, we will follow
the 21, but not the 7.
 mpon is assuming (in the question) that since >"1 states that he can be %7mn (only) Wwp>w 71 93 (in the future), this
indicates that Wp5Ww 1 he cannot be Y91 since it is 1MW12 1°X and that is the view of the 7wn ano of 2337 PR, so that
mawn is also ax7n (it follows the view of 7717 ™).

2

TosfosInEnglish.com



onod 7"7'oIN R,y p"2.7"02

- 10819295 NN YOPIIW 99 VDI XY 9 ) YOPIY Y5 711 %39 RNPYTT 999 W
And one can say that perhaps >''1 permits being n even "1wphw 92", even though
it 1s 1MW 1R, (in disagreement with 71m° "), and the reason he mentioned only

wpaw 9o (was not to exclude 1wp?w 95, but rather) for a novelty -
= 11799592 %12 DY NIN Y NDT 2) by N7

That even though that wp%w 55 will not make the vP% permissible for the poor, only

by utilizing the concept of 579992, nevertheless it is effective, and certainly that Yop7w 7 73 is
effective since we do not require 7712, and \Mw2 X>W is no issue for he disagrees with 72 .

mooin offers an alternate answer to the initial question:
= 99N R ANTINS NHPNDIT XIMNIN NN MNP 9917 9219 W N

And additionally one can say, that this is what X1°27 meant, if >3 would not have
said, etc. we would have thought, etc. since >"1 did not say his rule of ono> 115771

7w if it 1s a INT XAN®; we would have said this rule of “%& X% A8 ONO3 -
- MIYN OND NYY NYPN NYT 29N 99

In order that the ;7w ano should not contradict >"7. However this is all what we might
have thought if *"1 did not say X"7 1R 7" PyuK -
$99N 993 ANTIN? NIYVN 129999X NN 952 919X XY 9NN 15 MYYY 199N RN AN

However now that it was necessary to offer another answer,'* we no longer say

this (that 9nx X% 7%7°17° onod), but rather °" said even by a 7R7 7 mawn [2ng] that
the 15977 is like that mawn ano as well.

Summary
The meaning of InR X? 7R7°1> ano2 is either that if there are two contradictory n1iwn

we do not follow the IX7°, or this statement was only in the X% 7.

Thinking it over
Which is the greater novelty; that one can be 7°P57 a 1MW"2 1°RW 727, or that we say
a2 Wwo?

10If we assume that >"1 permits 79571 in all cases (WP 95 and WP w 53), obviously 7M1 1 disagrees with 13m° '3 and
we cannot say that the 7wn of 2137 X (which agrees with 3 ") is according to 77 . Rather we must say it
follows the view of other (many) unknown 2°X1n, and it is not a x7°1°. However (in M0 question) when we initially
assumed that 777 " meant only WP w 1n, but WwpHWw 77 is ineffective for it is 1MW"2 1R, then since we find a Xin who
explicitly maintains that you cannot be 7°pan ,w>7pn etc., something which is 1mw12 7°K, we will assume that he is the
(exclusive) Rin of any mwn that maintains the same idea (and it would be considered 1x7°17°). See 2"nn.
I At the time of the 77577 we do not know yet which vp® he is being 7°pon; we rely on 7772 that whatever they pick
later illegally, will become “po7 retroactively. This is a novelty.
12 The n"21 mnxn amends this to read, ARTTT 71wn aned 120X (instead of AXTM 71Wn 12°0K).
13 The answer was that there is another ano (and a P09 to support that ond).
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